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 Autograph Activity

Differentiating ekx
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 Open a new Graph Page in Advanced Mode
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 Drag the graph so that y > 0
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 Enter Equation y = ex and then [image: image5.png]


 attach a point to the curve at x = 1
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 Select this point only then right click to add the Tangent.
( Confirm the gradient of the curve at x = 1 is 2.718 (bottom left)
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[image: image8.wmf] By moving the point along the curve complete the table opposite
	
	
	

	
	Value of x
	Value of y = ex
	Gradient of tangent

	
	−2
	
	

	
	−1
	
	

	
	0
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	2.718
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[image: image9.wmf] Repeat all the above for the functions y = e2x , y = e3x , and y = e−x to enable you to complete the table:

	

	x
	y = e2x
	Gradient
	
	y = e3x
	Gradient
	
	y = e−x
	Gradient
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[image: image10.wmf] If you have spotted the pattern you should be able to complete the statement opposite!
	
[image: image11.wmf]ax

dy

ye

dx

=Þ=




[image: image12.bmp][image: image13.bmp][image: image14.bmp][image: image15.bmp][image: image16.bmp]







































© Alan Catley  Tynemath iCT
13/09/07
041 The exp fn 2

_1095765664

_1190534824.unknown

_1092804722

